N2
Section L - Stegﬁng

N.B. Steering part numbers b@ with (H)



contents

&

Steering rack . q}

B &

Steering Column
g $

Steering Wheel Boqig
N

N

g@@ Pump
O
@
8
2)& P.A.S. Fluid Circuit Bleeding
N\
.&
N

< Track Rod Ends




&
Service / Workshop M \59
0\
Steering Racky
. &Q)"
N
o
Q
C
9
<&
D
) @@
%O
Q)Q)
$
be’b
Qo
O
O



Slteering Rack - Removal/RepZocement Pmcedure

_ Before commencmg t]:us operatlon the ¢ engme '
coolant and the PA.S. fluid have tobe
~ drained. (For dralmng coolant fhud see CDO
~ ing system section and for P.A.S. see sub ¢ sec—
~ tion H of this section). Then remove the
. lower engme cover by unboltmg it from the
1 1 ichassisi- 6 X M8 a]len bolts. -

Service/Workshop Manual -Steering Rack

i

Remove the front Wheels. :

Service/Workshop Manual -Steering Rack o \‘@"

Q nce this has been done remove the Track Rod
& Ends usmgaball ]omt sphtter s

Then remove the steering UJ’s.

Service/Workshop Marual -Steerin ¢ Rack



CERBERA SERVICE/WORKSHOP MANUAL

Next c_ar_efuﬂy remove the coolant ru]:;ber- piping
from the coolant rail on each side of the engine..

C

g ;
\ Remove coolant pipini@cr e rack - items to be
) removed shown OpPORS" . :

)
O"O
bV
QN
©
X
e
>0

Remove the PAS feed pipe, return pipe and the
two copper pipes and then unbolt the 4 x M8
bolts and washers at each end of the rack which
secures it to the chassis.

To remove, slide the rack to the N/S of the car
and feed through the chassis as shown in the
picture opposite. .
To replace a new rack reverse the outlined
procedure. Remembering to bleed the P.A.S.
fluid as well as bleeding the coolant fluid and
antifreeze.

Service/Workshop Manual -Steering Rack



Q
Service / Workshop Mq{;@g
N

Steering Coluﬁr%



Steermg Column - Removal/Replacen'zent Pmcedure

Before commencing the operatlon of removmg |
the steering column the battery shou}d be :
disconnected.” = . 0 0 'j; o

1
e ST
Then dxsconnect the upper U]b’& o =
ol
J
s ~
‘ien’re/Workshﬂp Manual -Steering Column — )&QJ Z]

~o¢° :

C*Remove the column covering panel and <=
carefully remove the wiring from the steermg
column sensors. _ L
Please note: Ensure to make anote of the
number of connectors and where they connect.

bering Column

The column assembly can then be released
from its mounting bracket which secures it to
the chassis/roll cage. This bracket is also the
column adjust bracket.

Service/Workshop Manual -Steering Column



CERBERA SERVICE/WORKSHOP MANUAL

 Removetheairventpiping.

ervzceMorsop Manual -Steering Column

~ The complete _as_se_mblke&g with the steering
~ wheel cannow beremgved.

Service/Workshop Manual -Steering Column s °§\_‘ 4

C) - To réplace..fhe new éolumh'feasserhble :
%’ - reversing outlined procedure, = =

erviceﬂ'\’orﬂcshop %8 al -Steering Column

>
b'@
o‘b




Q
Service / Workshop Mq@\g
N

Steering Bo%0




Sfeerm Bo odiﬁcation

__by punchmg a hole in 1t

e?'zrfce/kashop Manual - Steering Boss

‘Remove the centre bolt (17m gﬂ&(et) and : _:
remove steering wheel ass;;i&y Takmg care -
thh circuit board rIbbon% L

Service/Workshop Manual - Steering Boss - e &) i

: C)Unplug the nbbon from the 10 way header m -
& the steering boss. ' '

Service/Workshop Munm@ #eering Boss

Remove the rubber gaiter from around the _
steering boss by sliding it away from the wheel.. ;

Service/Workshop Manual - Steering Boss



CERBERA SERVICE/WORKSHOP MANUAL

_ Remove the 4 X 2 way plugs from the steermg
wheel instrument buttons to the PCB board
Notmg the1r positions. = -

_ Steering Boss aume : @,

Remove the 6 x 5mm a ﬁ Its from the ._ :
centre of the wheel an t boss assembly from:

the steermg wheel -

8
6 L

T— ; 6.’

_ \o%\

=

Q - To replace, firstly refit the new boss 'assefnbiy fo .

the steering wheel and tighten up the 6 x Smm

bolts. :

Service/Workshop Manual - Steering Boss

Service/Workshgp ;é aal - Stf:ermg Boss

Then loosely screw the PCB board to the boss
allowing it to float freely, then reconnect the

4 x 2 way plugs in the same order that they were
taken out and retighten board.

Service/Workshop Manual - Steering Boss



~ Refit the st_ééring boss rubber gai?é?- :

Service/Workshop Manual - Steering Boss

Service/Workshop Manual - Steering Boss

CJRefit the steermg boss and steermg Wheel
| assembly back onto the steering. column by 5
' (é ' replacmg the securing bolt and torque to 25 ft Ib 2

- : .
eering Boss

'Finally replace baage.- :

Service/Workshop Manual - Gteermfg' Boss



CERBERA SERVICE/WORKSHOP MANUAL '.

Notes







PA.S. Pump - Removal/Replacement Procedure

- Before commencing the operatlon of removin
the PA.S. Pump the car needs to be raised o
a ramp SO access can be gamed from undemeam

el
Service/Workshop Manual - P.A.S. Pump

Firstly remove fhe High Pres us@ASﬂmd .
hose with its banjo bolt andNdashers then
remove the low pressure & from the side of

0

the PA.S pump. Whichgs Iocated on the O/S of
the engine and is a end of the assembly of
water pump an Eé:spump -
) - Please note: AIGPA.S. oil will dram out
Service/ Worksh fﬁ‘ uI ~ PA.S. Pump \‘6 9
~o%

Cj['he PAS Pump steady bracket can now be .
removed by removing the M8 allen bolt Wthh :
secures it to the sump. ' -

The P.A.S Pump can now be removed from the
water pump/oil pump assembly by removing
the 3 x M8 allen bolts which secures it to the
flange at the rear of the oil pump. :

Service/Workshop Manual - P.A.S. Pump



CERBERA SERVICE/WORKSHOP MANUAL

)
To replace the new PA S Pump reverse the out
lmed procedure Then bleed PA S ﬁud system

Service/Workshop Manual - PA.S. Pump e e L . ‘& _




"06
Service / Workshop Ma@al
¥

P.A.S. Fluid Ble&gmg



PA S ﬂmd the car needs to be razsed onto axle '_ .
stands at the front '

Service/Works

Next ensure the PA. S ﬂu1d IRS %er is topped
o
0*9 |
e _-'50&3
XS
eo__._

Rotate the steering wheel to give one full iock
Hold it for ten seconds and then apply the
opposite lock, repeat 2-3 times. Ensure the
reservoir is topped up during this operatxon
This should bleed any air out of the system.

Service/Workshop Manual -P.A.S. Fluid Bifcdinl g



)

Notes

CERBERA SERVICE/WORKSHOP MANUAL |




Q
Service / Workshop MQ{)@\S
N

Track Rod Erfﬁ*&0



&ﬁack od s

- Removal/Replacement Procedure

- Before comencmg the operatlon of removmg '
~ the Track Rod Ends the car needs to be raised o '*j
toaxle stands ensurmg the suspensmn system is

. _free_ _ o _ o

Service/Workshop Manual -Track Rod Ends

Service/Workshop Manual -Track Rod Ends ' o \‘@" =

C)Rernove the M12 nyloc nut Wthh secures the
Q, track rod end to the steering arm. -

&

Next slacken of the lock nut on the ste.erin'g__'_ra' ck
arm. ' e

Service/Workshop Manual -Track Rod Ends



CERBERA SERVICE/WORKSHOP MANUAL

- Remove the Track Rod End usmg a ball Jomt

5

Service/Workshop Manual -Track Rod Ends oo s L oEl - & o |
- _ Q’&

To replace the new Trad@%d End reverse the
outhned procedure O Sl

Serwcs/ersho Manual -Track Rod Ends

Fmally keepmg rack central ad]ust trackmg and

. camber. _
Please note Always renew in pa1rs

al -Track Rod Ends




